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AmYw{ZH$ amOñWmZr nÚ gm{hË¶

Paper - RJ-02

Time : 3 Hours ]	 [ Max. Marks :- 100

{ZX}e :	 Am¡a nona IÊS> "A', "~' Aa "g' ‘| ~§Q²>¶mo‹S>m¡ h¡& IÊS> "A' ‘| gmd 
N>moQ>m gdmb, IÊS> "~' ‘| N>moQ>m gdmb Aa IÊS> "g' ‘| ‘moQ>m gdmb 
{X¶mo‹S>m h¡& haoH$ IÊS> a¡ AmJ¡ ‘§S²>¶m¡‹S>m {ZX}gm§ ‘wO~ Amnam nLy>Îma 
{bIm¡&

	 (IÊS> - A)	 10 × 2 = 20
(A{V bKw CÎmar¶ àíZ)

{ZX}e :	 BU IÊS> am gJim gdmbm§ am nLy>Îma XodUm Oê$ar h¡& Amna¡ g~Xm§ ar 
gtd g~X 1 g~X AWdm 1 dm³¶ AWdm 30 g~Xm§ ar h¡&

1)	 (i)	 Mmdr aMZm ""àgmI ^a¡ g~X'' am aMZmH$ma Hw$U h¡?

	 (ii)	 ~mdOr MVwaqgh ar {H$Ur Xmo aMZmdm§ am Zm§d {bIm¡&

	 (iii)	 ""bñH$a Zm W‘¡'' O¡‹S>r Mmdr nmoWr amo gma {bIm¡&

	 (iv)	 ""‘mZImo'' Aa ""OmJVr OmoVm§'' {H$U H${d ar à{gÕ aMZmdm§ h¡?

	 (v)	 H${d g§H$aXmZ gm‘m¡a a{MV {H$Ur Xmo Mmdr nmo{W¶m§ am Zm§d {bIm¡&
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	 (vi)	 ""M‘Mmo'' H$mì¶ nmoWr am aM{¶Vm am¡ Zm§d {bIm¡&

	 (vii)	‘oKamO ‘wHw$b a{MV {H$Ur AoH$ Mmdr aMZm am¡ Zm§d {bIm¡&

	 (viii)	H${d ‘mohZ AmbmoH$ a{MV {H$Ur Xmo à{gÕ H$mì¶ nmo{W¶m§ am Zm§d 
{bIm¡&

	 (ix)	 {JaYmar qgh n{‹S>hma {H$U N>¡Va am H${d h¡?

	 (x)	 H${d ^JdVrbmb ì¶mg ar Mmdr aMZmdm§ ar {H$Ur Xmo¶ {dgogVmdm§ 
~VmAmo&

	 (IÊS> - ~)	 4 × 10 = 40
(bKw CÎmar¶ àíZ)

{ZX}e :	 BU IÊS> a¡ {H$Ur Mma gdmbm§ am nLy>Îma 200 g~Xm§ar gtd ‘| {bIm¡&

2)	 AmYw{ZH$ amOñWmZr àH¥${VdmXr H$mì¶ ~m~V AoH$ gm§Var Q>rn {bIm¡&

3)	 ‘hm{dH$ gy¶©‘ëb ‘rgU a¡ H$mì¶ aMZmdm§ ~m~V Amnar OmUH$mar 
COmJa H$am¡&

4)	 Mmdm H${d ~mdOr MVwaqghOr a¡ OrdZ-XagU Z¡ COmJa H$am¡&

5)	 ""MoVmdUram My§JQ²>¶m' aMZm ar {dg¶dñVw Z¡ COmJa H$aVm WH$m, aMZm 
amo g§Xoe {bIm¡&

6)	 AmYw{ZH$ amOñWmZr am Mmdm H${d {JaYmarqgh n{‹S>hma ar {gaOU OmVam 
Z¡ COmJa H$am¡&

7)	 Mmdm H${d ào‘Or ""ào‘'' ar H${dVmdm§ H$s {deofVmE± COmJa H$am¡&

8)	 AmYw{ZH$ amOñWmZr am Mmdm H${d ‘mohZ AmbmoH$ ar gmZoQ> N>ÝX naånam 
‘m¶ ^y{‘H$m ñnîQ> H$am¡&
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9)	 H${d JmoaYZ{g§h eoImdV ar H$mì¶ aMZmdm§ ~m~V Amnar OmUH$mar 
COmJa H$aVm WH$m H${d amo gm{hË¶ ‘m¶ ¶moJXmZ g‘Pmdm¡&

	 (IÊS> - g)	 2 × 20 = 40
(XrK© CÎmar¶ àíZ)

{ZX}e  :	BU IÊS> ‘| gy§ {H$Ur Xmo gdmbm§ am nLy>Îma 500 g~Xm§ ar gtd ‘| 
{bIUm h¡& 

10)	 AmYw{ZH$ amOñWmZr H$mì¶ ar {d{dY àd¥{V¶m§ Aa aMZmH$mam am¡ {dJVdma 
Iwbmgm¡ H$am¡&

11)	 AmYw{ZH$ amOñWmZr H$mì¶ am n¡bm H${d gy¶©‘ëb ^rgU ar Mmdr aMZm 
""dra gVgB©'' am ^md-gm¡ÝX¶© Am¡a H$mì¶-gm¡ÝX¶© ar {dam¡i H$am¡&

12)	 amOñWmZr am Mmdm H${d H$Ýh¡¶mbmb go{R>¶m am aMZm g§gma ar {dñVma 
gmW¡ g‘rjm H$am¡&

13)	 Jr{VH$mì¶ naånam ‘m¶ H$ë¶mU qgh amOmdmV ar ^y{‘H$m ñnîQ> H$am¡&


